Test Paper
Test Subject

- II
: GEOGRAPHY

Test Subject Code : [ K-1511 ]

Test Booklet Serial No. :
OMR Sheet No. :
Roll No.

(Figures as per admission card)

Name & Signature of Invigilator/s

Signature : Signature :
Name Name
Paper : 1I

Subject : GEOGRAPHY

Time : 1 Hour 15 Minutes

Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

; ey Raun

. S PudebenDobd WO R0 35 dres Sowds woctoo.

2. edato b vady dFF SR Bnd werteoad

(i)

. SoeabTmterdd, ZEuiand debramooria. sty S SRR,

Qe Drdodoa Sdebenaha FWNHed SEoien T0eRon SRECTNG.

() =B Dyert Sfezossens srcoen, B BeOE s vorsd Dedds
Teor vewd) FOCWB. AFOT Aew* AT TITRE 2, woRTeR. 6T
Tagooah A, cFoxkded.

Do OF FInV Sosd =) Pun dosd o vl shed
Z00AE SRikicdachn 3¢ 24000, Punw/IIN® rkaRg,
Slor) 353 egTe eI NoR ogme 83T adnge ;;r.sﬂd
SRtETRCI PAIRTW FARS 5 WAAT 8TR 1, ToDEIOT IO
[T I wdedondey Wi, v wed I I3 Fohwy
LECRatoabR oy, cRg b ImhobaRls 2ABIYRY

& =Y JeedT wo7, Joem, Pd osdoeba) OMRzYaY,
SRR 2 OMR =¥ Bozdodal) 8 Toem, Yasobd
ShetmEi.

(i)

; gaodmccbgzgi:a(A). (B),(O maf‘;(D)accbmdmO%MFox

SZTnited. N6 Fob ST BOIRT TR Ded, g wcdused
©0mEY SR BTN

uuma‘dd:@ ® @ ()
{C)Saomdmgomm%d

. e eugorivat, 2381 B3cevrt Satifa OMR (alc eded),

=R Baumssn. OMR ozt vcbds scmg Enosuan ted
iRy FHEY rochdnad, o SRy nalandonriPoy,

X ] im}ﬂmz!&fﬁ#d:ﬂ wndesScines L.O0.

7. 4o Semiais Yy daschd SrEm.

10.
11.
12.

Rongna zgmmom S0 Tovod cdRate tRncd), LBl
a@eaﬁﬁﬂu%mnmgea.

. Wosfoh eed B Smoden T0sE, HETyE S OMR eugt sdodd

HoDeggon Qe bedthimied ) Toew dacch Beor dxlgodn
Zrotdeotyzdd.

R/ 37 1o mactocts® Fnf g evaclacnt.

53,00, 0e030° LEse AT HNTT a3y 00b weleds) dddpRioan.

0 eeg vegdnorn ador eoFaRn,

[

Lol

10.
11.
12.

Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : (A ® O
where (C) is the correct response.

Your responses to the items are to be indicated in the OMR Sheet
kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself liable
to disqualification.

You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There is no negative marks for incorrect answers.
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marks. Attempt all the questions.

1. wvoE QufgEonn cdRedeio o Regkirheds ?

(A) 3= =) S0

(B) Snouers d:emj =) TR, 0ue* S
gen

(C) acine @) sk

(D) Zrones &0 wenes rec

2. 391 20D ée@%ﬂ#ﬁg{ BREINS. z.,ozﬁa’.gt
TETTS (A) 208D FECHLNT 303
facﬁrg{oddi B03F S (R) 20t 880dennds.
391 ERLSL SReE*ROT adgwgdddgl 603%
SIne.

BT (A) : 2R3 dedod FBI0eT 13w

SRDHrRRRIS. wodod e 030

SPONRROR §oETIFoL) WTLIOINT e

TR RNt B3 edol edms S0

TTERE BRUBLONTINZS.

A3 (R) : 008 Bei 1em 8rzsy

ROREEYR) BROQTWRTD T0° HTesw

- S8R NG,

(A) AS)R o0@e R0 DR R, A o
ROCIRT DRTBCIRNT

(B) A @2 R 20@» R0 &3 R, A o
RocIng SEdseHY,

(C) ARo =TGSR 3

(D) A 3 =3 R B0

Note : This Paper contains fifty (50) objective type questions, each question carrying two (2)

1. Conrad discontinuity occurs between
(A) Crust and mantle
(B) Upper mantle and lower mantle
(C) Sial and Sima

(D) Outer and inner core

2. Given below are two statements. One
is labelled as assertion (A) and the
other is labelled as reason (R). Select
your answers from the code given
below :

Assertion (A) : Grike formed due to
differential erosion rock surface
becomes weathered into deep narrow
groove which is separated by flat or
rounded topped ridges called clints.

Reason (R) : Most of this topography
is a characteristics of Karst region
having chalk.

(A) Both A and R are true and R is the
correct explanation of A
(B) Both A and R are true but R is not
the correct explanation of A

(C) A is true but R is false
(D) A s false but R is true
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3. NSIYNFY R0 AR edodnne) ?
(A) B 3R egyen® — ma&d B r’omgaoé

(B) o7 ~ AN LR,

(C) Beo® TeodF| — RRTORRTT
ﬁom%oa’

(D) ®#red — tRyeaD Y
zucr%oa’

4. RT3 3008 208 TH) cdn;;)dig RoLORAT ?
(A) =xoE e
(B) &0den 303
(C) zand god
(D) m=0g-3dent 33
5. 391 8redos s - [ & s - 11 Sroldr
HRSneer B 391 ErLT BrneEnven

ROCIRG $UBTIR) BINBRY,
R | e~ 11
a) DD Prgo i) 1883
b) BroRn Pees ii) 1902
) TR iii) 1967
23, TRT0D0 AR
d) Zed (Pelean) IIF2  iv) 1993

23, R0 BRFH

@ (b (© (@
A @) Gv) @ (@G
B) Gv) @) @ @)
© @v) @) @ @
®) ® @ Gv) ()

3. Which of the following is not
correctly matched ?

(A) Jeans and Jeffreys — Tidal theory

(B) Penck — Slope
development

(C) Homer Hoyt — Supernovac
theory

(D) Jolley — Thermal
cycle theory

4. The term windgap is associated with
(A) Aeolian action
(B) Glacial action
(C) Fluvival action

(D) Sea-wave action

5. Match the following List — I with
List — II and select the correct answer

from the codes given below :
List-1 List =11
a) Khillari earthquake i) 1883
b) Koyana earthquake ii) 1902
c) Krakatova volcanic iii) 1967
eruption
d) Mt. Pelean volcanic iv) 1993

eruption
@ G (@ (@
(A) @Gy Gv) @) (i)
B) Gv) @) @ aG)
© Gv) @) @) @
@ O @@ G (i)
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6. NI iR BreeRcdn Foc3RA
BR3rReoRONr 2
1) Cwa — 2o@xedear, BoF, WYY
2) Cwb — 205333 2ud edeant
3) Csb — gnS, tuto weart
4) Ctb — eR3pa edeart
ROOIRT g0y Modos :
(A) 1,2,33%) 4
(B) 23 3
€) 1,333 4
D) 13=) 4
7. S5023 JeT 50D
(A) 3em033 FFR
(B) NS a‘;saaé;j‘r@d:
(C) Padood Jogwmoes
(D) w2=a IR
8. FINIZnID) ednieas R Focdns
SUZTH, e TRLITOT B oot sody

RBRRO.
SRS RS Bes
a) a’c‘ﬁnuy 1) ©E*ocinissT
(Harmattan) RS0,
b) maifaedi% i) 3BT R BT
(Sioracco)
¢) 23red (Bora) iii) A%e3 &Hdgnaoed
TpDFgen
d) Fpeods® iv) Rzed Sodded
(Foehn)

@ ® @© @
(A) G Gv) @O GiD)
B) Gv) @G) G @)
© O G G Gv)
D) @) Gv) @ G

6. Which of the following pairs ard
correctly matched ?

1) Cwa — hot summer, dry winter
2) Cwb - hot, dry summer
3) Csb - warm, dry summer

4) Cfb — warm summer

Select the correct answer
(A) 1,2,3and 4

(B) 2and 3

(C) 1,3and 4

(D) 1 and 4

7. The immediate cause of wind is
(A) Humidity differences
(B) Temperature differences
(C) Rotation of the earth

(D) Pressure differences

8. Match the following and select the

correct answer from the codes given
below :

Winds

a) Harmattan

Blowing region
1) Adriatic sea

b) Sioracco i1) Switzerland

c¢) Bora iii) Eastern part of
Sahara desert
d) Foehn iv) Sahara desert

@ ® © (@
A @@ Gv) @O (Gib)
B) Gv) @@ @G) @)
© @ @) G aGv)
D) @) Gv) @) 3G
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9. Rog Ao oo 99,

10.

11.

12.

WRILIT.
(A) &3%—#5&.35‘ (Altro-status)
(B) Qole-m (Nimbo-stratus)
©) = gééxa - BB (Strato-Cumulus)
(D) Rerdr-8)=0ur BREBNL
(Nimbo-Cumulus Clouds)
3Be PRWICTBOT RTIRO TAFT DRF WIS
RN
(A) 1200 0. 2. (B) 1100 0. Q.
(C) 1500 cw. 2. (D) 1450 . 2n.
3N LV WZes SN TonG TINY
DR SBLINTINGS.
1) PrDoBET agesdd
2) yeDorE: =3
3) &9mn ABOG NS FRBOned
4) goTdEned
(A) 2,1,4,3
(B) 1,2,4,3
) 2,1,3,4
D) 1,2,3,4
591t BrE30OR SORD BePBndd, 2083
BETTS (A) 3B asReB, Bwr (R)
0T TOTERNT. FIrt ErescoD
3R NIgot ROCIRT LuZTRRY, SoERA.
RETTS (A) : eEReLs FNROBY,
BRI (Atolls) Zed mTRToNS.
7205F S (R) : 3R93 Ret wedne gosd odn
FROT ©9RR0ON FRICRMIT BRNIST.
(A) A 3R n¥oEZRRORR, A o
Ro0odRt HNTBIRAT

B) A %R récee B DR, A ob
Rocine DEcRabe,

(C) A RoeTOR 3,
(D) A 3 53SR R0

9. The maximum thunder takes place

10.

11.

12.

the

(A) Altro-status

(B) Nimbo-stratus

(C) Strato-Cumulus

(D) Nimbo-Cumulus Clouds

Mean annual precipitation of the
entire earth is about

(A) 1200 mm
(C) 1500 mm
Following relief zones are the
characteristics of ocean basins.

1) Continental slope

2) Continental shelf

3) Deep sea plains

4) Trenches
(A) 2,1,4,3
(B) 1,2,4,3
(©) 2,1,34
D) 1,2,3,4
Given below are two statements. One
is labelled as Assertain (A) and other

is labelled as Reason (R). Select your
answers from the code given below :

(B) 1100 mm
(D) 1450 mm

Assertion (A) : Atolls are more
common in Atlantic ocean

Reason (R) : The population of marine

organisms decrease with depth

(A) Both A and R are true and R is
correct explanations of A

(B) Both A and R are true but R is not
the correct explanations of A

(C) A is true but R is false

(D) A is false but R is true
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13. ZRowd 2ReOT RoRIRET k) HA3

(A) 2.8% (B) 3.8%
(C) 4.8% (D) 5.8%

14. Zo=c é’DES‘#) wdﬁ)@&f KJQCGJESD SR
&55 :DDN?.@O@@ 9
(A) ﬁ:@ onleTat=») (B) @Incmaadnsd
(©) Eﬁ)@dﬁ'{% (D) eves ""236@01)3

15. mar@Reer (Non-point) SROT) cIRHTE,

NO&JOQNd"
(A) %mc@r@ﬁ (B) %&bmt}a‘ﬁ
(©) zjemcxbé (D) nedrmodn

16. Bert dmuschoss sy - Iny s - 11 dooart
Brdradid 20s) S BRLtHS Ereeioon
ROCIRG UZTTR) Loby), 4290.

e - I 33% -1I
a) ABR-BWT°WIRDF 1) SST*
(Neo-determinism) (Tatham)
b) TWRRT TRVOTDT 1) osaT
(Pragmatic possibilism) (Tuan)

c) TAVORST i) &eoce
(Possibilism) (Taylor)
d) BoBRIRST V) B -E-o-
(Humanism) wes(Vidal-
da- la-
Blache)
gpensh ¢

@ (b () (@
A) @ G @Gv) (i)
B Gv) Gi) @ aG)
© Gu) @ Gv) @G)
@ @ @) @O @)

17. mdan (Paradigm) 3¢2080 SOFLRODR)

Breammd o3R3d ?
(A) @z 805 (Thomas Kuhn)
(B) 2. e (P. Heggette)
(C) &somoc® (Mackinder)
(D) .z weeer (A. Humboldt)

13. The total amount of fresh wate
resource in the world is

(A) 2.8% (B) 3.8%
(C) 4.8% (D) 5.8%

14. Tip of ecological pyramid is occupied
by

(A) Herbivores
(B) Carnivores

(C) Producers

(D) Northern Siberia

15. Non-point pollution is associated with
(A) Industrial (B) Dairying
(C) Agriculture (D) Mining

16. Match the following List — I with

List — II and select the correct answer
from the codes give below :

List I List IT
a) Neo-determinism i) Tatham
b) Pragmatic

possibilism i1) Tuan

ii1) Taylor
iv) Vidal-da-
la-Blache

¢) Possibilism
d) Humanism

Codes :
(@ @® (© (@
A @ G) Gv) @)
B) Gv) Gi) @ (@)
© G @ av) @)
M) @) @Gv) @) ()

17. Paradigm shift concept was devised
by
(A) Thomas Kuhn
(B) P. Heggette
(C) Mackinder
(D) A. Humboldt

worns StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

18. 31t 8L TR Bewdndd 1083,
BT (A) == v 7edrr s (R)
Q0T BROVINT. FFNT ERCE NPT BOIRT
SUBTIR, TSR
RIS (A) : B~k
rrinedzarys 0O SRss- TORT BoWoEHR)
NFeaRen edSRERE 008D, DTN,
R2ErS (R) : BRIz I00S:) Sraroeys
9T TORTE, FoDB BRR. ST 302
TORTNEL §03RFEN TVOKT BoroPATI
POTR) I Reneed m#dz:, 53
©20NEBOROTY.

(A) ASHR 20Re R0 RR, A o
ROOIRT NSTHIRNS

(B) A &R 20E» R0 «@OR, A o
RO0IRT QETWoe)

(C) A 3070 =TIR ),

(D) A 03035 s3IR 5O

19. ZoRnrEzs T30S, ‘eoa’odwrcé ' (A
JT) 0 cdedd BT ?

(A) Bedw® T
(B) aef. & AR, S0
(C) a=F. &. Bur
(D) aewsor zrie (Hegget)

20. ‘owFra00z ’ (Erdkunde) oo =3 s
TED) DTS BRWRZSE ?

(A) T [0y WO WO TowoRAWoS
PR Fqé

(B) Tord waemecnoss yon

(C) TTordd wTSRS0VYT g

(D) B0ed3 canae ©e,

18.

19.

20.

Given below are two statements, 0
is labelled as Assertion (A) and the
other is labelled as Reason (R). Select
your answers from the code given
below :

Assertion (A) : Behaviouralism is an
important approach adopted by
geographers to analyse man-
environment relationship.

Reason (R) : Behavioural geographer
recognises that man shapes as well as
responds the environment and that
man and environment are dynamically
interrelated.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
~ the correct explanation of A

(C) A is true but R is false
(D) A is false but R is true

Who called quantitative revolution a
“civil war”.

(A) David Harvey

(B) L.D. Stamp

(C) S.P.Chattarjee

(D) Peter Hegget

‘Erdkunde’ is a German word which
stands for

(A) Science of the earth in relation to
nature and history

(B) Inhabited part of the world
(C) Uninhabited part of the world
(D) None of the above
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21. K-7 0w e3330 Zeed ?%aﬁf*ééodoa =
IINSIFD CRFYBI, RAWRBS ?
(A) 1,7,49,343 ...
(B) 1,3,5,7, ....
e 1.7, 18, 2L
(D) Boeds colnmine @)

22. 2 #NSIrdad; adrieds B Booind

VBT, BTt BRETOT BT NPT TOTSA.

=D m;#
a) @otde (Mullato) i) mmea®
b) == (Ainu)
¢) oo (Lapps) ii1) Jwer
d) Saedn (Mesitzo) 1v) Soddn
LECN =g

@ (b © (@

A @O > Gv) @)
B) Gv @O (@) (@)
© @ Gv) @ ()
@ ) @ @ v

23. 1084 (0&¥03x3d) : 1000 (FHobwsd) &3
Oorosiandsy) ciRE Tt Tomoeedd ?
(A) gmores
(B) = @) 53¢
(C) Bewe
(D) sogIdes

24. 2pod BoOF (o) =IND TR gord
[Alobn) m ) OB Y,

(A) Se3zd3

(B) eoomde e
© aiézpz WOT®
(D) em20

i1) A 0BT eI

21. K-7 hierarchical order implie
(A) 1,7,49,343 ..
5 .38 7. ua
(1, 7.314.21, ..
(D) None of the above
22. Match the following and select the

correct answer from the codes given
below :

People Location
a) Mullato i) Japan
b) Ainu i1) Scandinavia
c) Lapps ii1) Brazil
d) Mesitzo iv) Mexico

Codes :
@ @ (© (@
(A) @) (@) aGv) @)
B) Gv) @ (@) >)
© G Gv) @ (@)
D) Gi) @@ @) aGv)
23. The sex ratio of 1084/1000 males in
found in the state of
(A) Karnataka
(B) Jammu and Kashmir
(C) Kerala
(D) Andra Pradesh

24. House of reeds are common in
(A) Manipur
(B) Arunachal Pradesh
(C) West Bengal
(D) Assam
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25. mBRLT BBA0LT) ATHOSI) S0RATID
odRod ?
(A) IQwwsr
(B) Sng=*
©) A%
(D) enx® <res (August Losch)
26. *20m3,0300° ACWSRAT * Q0% BEMUFI
FRATDI0 03RT1 ?
(A) ej%csf dz%c‘
(B) =eczET*
(C) dnas
(D) d3o° .
27. =3NS g~ 1 =3~ 11 dmolrt
BERSRRPR W FOWRT YrgsE) BN

BRUDO REE 0T SO0 :
=8 -1 s -1
a) T i) Sedgedodo
b) Swedcsn i) e &
c) DAL 1ii) 3T QD
d) F2edom iv) =wned
BReTT

~

(@ &) () (@
A O @ @) (v
B) Gv) @ @ @
© @ @ Gv) @
O @ (@) @ @)

28. IMO® KRS, 00T
(A) groodne ezpagjcg__‘
(B) gmodnd Feg @eipe (Ghost town)
(C) 20w Frmogotn WEBPORTH
(D) Sz rods sud3nth

25. Who put forth the social theory o
population ?
(A) Henry George
(B) Malthus
(C) Spencer
(D) August Losch
26. Who coined the term industrial
symbiosis ?
(A) Alfred Webber
(B) Palander
(C) Losch
(D) Renner. G.

27. Match the following List — [ with
List — II and select the correct answer

from the codes given below :
List -1 List - 11
a) Ghana i) Petroleum
b) Liberia 1) Bauxite
¢) Guinea ii1) Iron ore
d) Nigeria iv) Diamonds
Codes :

(@ @M () (@
A @O @ > @)
B) Gv) @) @ @
© G @ av) @G
M) @ G G) (@)
28. Industrial inertia is
(A) Development of an industries
(B) Ghost industrial town
(C) Survival of an industry
(D) Per capita of industrial products
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29. wu‘p eone ROFR0Z g0l evpa;@pée@

SNTZTE 0TI
(A) s ﬁ&g}o‘
(B) =35 23

(C) dexoe

(D) 2&x

30. 803 B¢ A3 wif $ENS ety

waﬁﬁfo

1) e SR maEnd mg S8 3dmab
DR wanRS

2) e:aorfan’e." aoua’aaﬁdo BB 2,BETD
38T FInFord & mmoéaé) as*e:)ﬂ&?id

3) e eﬂmwééoﬁ zs“&uoddgbq
SH0SNERORE

4) w0 Fo mcﬁan’eﬁ TRDY FToNTI

(orders) S0, R ée@ﬁmf@ odra@c:b

(A) 1,2@333 R0
(B) 2,3 x4 R0
(€) 1,23 40
(D) 1,3 32, 4 70

31. S080E0R wWITR (oL F O, 0E)

32.

z)m%oSda’%
FLRLBOTNG.

(A) T Rodeend s 2% (peace)

(B) &3r0deE D@0 60w 0oIRdL
(C) B@Fsood

(D) mo=nmois, - 2o S
Dodeodd ~d§orba B3 FNZYNYY, can)T
o] aﬁésaan ao@wud 9

(A) *’ea‘é RowoRAT g FOORT BT

(B) Nﬁﬁ RoWoRAT gesa')ci) QISTB

(C) *’136 ROLODAT BoTTr Lo d)&iﬂodaﬁatd
Dgo’ﬁ

)

D)

298, TowoRATeZ Taor DB LN

Side

29. Agriculture is prosperous aroun®

30.

31.

32.

urban center.

(A) Alfred Weber
(B) Von Thunen
(C) Weaver

(D) Whittlesey

Consider the following statements
about central place theory :

1) It provides an account of the size
and distribution of settlements

2) It assumes that shop-owners and
consumers are rational persons

3) It is based on octagonal network

4) It is based on three orders
settlements

(A) 1, 2 and 3 are correct

(B) 2, 3 and 4 are correct

(C) 1, 2 and 4 are correct

(D) 1, 3 and 4 are correct

Mackinder’s hartland theory is found

in the book of

(A) The geography of peace

(B) Demoralitic ideals and reality

(C) Erdkunde

(D) Imperialism : A Study

Political stability is closely bound up

with

(A) Spatial distribution of male and
female

(B) Spatial distribution of hierarchy

(C) Spatial distribution of lingufranca
and age

(D) Spatial distribution of religions and
languages
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33. Fpnoger’ (Prognathous) «0@d

(A) 3ETIENY B2

(B) 3o3@ne Swoemedad
(C) @t Fora0ss oensd
(D) 20093 cinyne &g

34. edtin-BroreweoirEnsd @)
L.00T BRETT DO WRT= WIVON 03RTD
TR0 TS
(A) soress
(B) g5
(O) =0 =) 58¢T
(D) gece
35. B3 IINTYNPY, 03N WORE) B Feedod
udﬁo&‘%@@tmoaﬁ 9
(A) gt
(B) @=3%»0
(C) BoacH
(D) Broen
36. §cings TNt cIRFE, Koo ?
(A) BRnoecid
(B) @3 wodead3
(C) w38n=3
(D) wz=weed (Extrogenity)
37. SRR, IS B PeRgiTem Frend
89N IR SN e80ee8, Aedo3es 2
(A) o088 Zhesneh
(B) @588 Idenisd
(C) dors Joeansd
(D) yPreees Iadesndd

33. Prognathous means
(A) Depression of lower jaws
(B) Projection of lower jaws
(C) Overted lips
(D) None of these

34. Tibeto-Mangolides and orientos
human races are found in the state of
(A) Karnataka
(B) Madhya Pradesh
(C) Jammu and Kashmir
(D) Kerala

35. Which of the following tribes has the
first rank population ?
(A) Baiga
(B) Chamar
(C) Mudia
(D) Bhoita

36. Functional regions are associated with
(A) Homogenity

(B) Heterogenity

(C) Uniformity

(D) Extrogenity

37. Mansoon, Savanna and Equatorial
regions come under the

(A) Genetic region

(B) Natural region

(C) Specific region

(D) Geographical region
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38. 2033 wp* S o&meuéod)ab
BRemumn cing dmaod eﬁdo@*“m\as
m@io:bm tﬂdmomd o

(A) aa%a;af aﬁa&gpod
(B) =g Seipos
(C) =8 éeja’méjaod
(D) ‘aw%aéjdra Q)
39. oo TWT ST enng ﬁaﬁ@;fﬁg{ BegEede
R0 cdRTD MOTHSATI ?
(A) = D ;O
(B) Sesrgorens®
(C) wiegoe
(D) Jeeoemo
40. Region (0e2a) 0w THRI) C3wes
FROHOT TEODCNE ?
(A) oz (Regax)
(B) onys>* (Reguim)
(C) d== (Regina)
(D) oz (Regime)
41. 3 deescos n;fdrf@ N0 :
1) nEcinwes®
2) 290
3) =
4) Tedren

[RNTY, A0k FrwOBTCDR, zr%aﬂdw B,
Reged B9

(A) 13204

(B) 3=4

(C) S0 3

(D) 8= 4

42. 033 ST B3 0 BRJD ?
(A) IWBRRO
(B) onzex o=
(C) soode
(D) wodoe moes*

38.

39.

40.

41.

42.

Block level planning in India has
been adopted to start planning from

(A) The highest level
(B) Middle level

(C) The lowest level
(D) None of these

Who demorcated the physical regions
of India for the first time ?

(A) Stamp
(B) Maikfarlan
(C) Baker
(D) Pethawala

Region is derived from the word
(A) Regax
(B) Reguim
(C) Regina
(D) Regime
Consider the following places :
1) Ghaziabad
2) Siliguri
3) Pune
4) Rourkela

Place (s) better suited for the location
of cement industry would include.

(A) 1and 4

(B) 3 and 4

(C) 3 only

(D) 4 only

The Southern most point of India is
(A) Kanyakumari

(B) Agasteeswarm

(C) Kulachal

(D) Indira Point
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43. e‘.aee;ﬂzdaj%—l sagjajagj—ﬂ 3&
2031R9ad ma:_p o éraag_gdod BRETEROT

ROOIRT eUBTHR) SO3TRED :
-1 =y, ~- 11
a) =o0= 1) %@aoéd (Shifting)
3&
b) Eeemr®  11) €0 30T
c) &3 i) IS
d) =°% iv) Soeden mrdae
seen
(@ () (@ (@
(A) @) @) G @
B) Gv) (i) G) @
© @) @ G G
M) @ Gi) G Gv)

44. 3t douicom T - I 3 @ - I SeodR
BR3TRR0 R BocIRT Spcten )
BRUDT R NPT SOTERE :

RoatSonsd  com
a) ¥R, 1) 208
b) o  ii) O‘awv%a’
c) RPoo* iii) Sobmrd
d) & 1v) % 302 54¢0
%.ratcs‘_q :
(@ @& (@ (@
(A) Gv) () @Gi) @
B) @) @Gv) @ aG)
© @G @ (iv) (i)
M @O @G Gy G)

— II and select the correct answer from
the codes given below :

List-1

a) Jarawa

b) Todas
c) Anagmi
d) Saura

Codes :
(a)
(A) (i)
B) @)
©) (i)
()Y

List - II
1) Shifting

cultivation
i1) Food gathering
iii) Pastrol
iv) Terraced
cultivation
(b)) © (@
() (@Gv) (@)
() @G @)
@  aGv) (i)
) @) (v)

44. Match the following List — I with List
— IT and select the correct answer from

the codes :
Lakes
a) Chilka
b) Pulicat
¢) Wular
d) Napi
Codes :
(a)
@iv)
(B) (i)
(©) (@)
® @

(A)

States
1) Orissa
1i) Rajastan
1i1) Tamilnadu
iv) Jammu and Kashmir

® @© (@
i) @) @)
v) @ (i)
® G G
@) (@v) (i)
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45. PF-TTT SOROTRND

TRBY éaf% mama%mﬁé 2
(A) Ioodnes

(B) ev3c Z3e3

(©) mz:.?&'%ai

(D) &z Zdes

46. z§®om ﬂ%e&ﬁ‘ QL TNEE® 0L

(A) Tessa0de0dd Spkey
(B) 2ah BT

(C) 3 v g e o e DG

staled
(D) R0ed3 cdnRce e
47. mBRYBID ST
(A) exhnpésreadn
(B) 35T
(C) RoBesesde
(D) Rondoreezoag

48. Cednmessy) (Remote sensing) CERYTR)
wERoRT 2

(A) Q0D BRoNEE

(B) wan® Snnrees Bron®mes
(C) Z&ow (Image) #o%dsa

(D) S0ed3 a0zp

49. o (Topology) oira@m’a‘igt w¥niRel3 9
(A) SERAHE

(B) w¥rinordhad

(C) Rowohadrvd

(D) 393 2@

50. SRBO0hD HTF, TYLTURRIT ?

(A) Syne Sessedny

(B) SRond Smma)
(C) =Ryned %.Oeamon0RO0E
(D) =Roness Beg %@dqm

45. Fragmented settlements are more
common in

(A) Haryana

(B) Uttar Pradesh
(C) Rajastan

(D) Himachal Pradesh

46. Stereoscopic neat model is
(A) Longitudinal lap
(B) End lap
(C) Area covering midway of side laps
and principle points
(D) None of the above
47. Generalisation refers
(A) Abstraction
(B) Simplification
(C) Symbolisation
(D) Smoothening
48. Remote sensing includes
(A) Areal remote sensing
(B) Satellite remote sensing
(C) Image processing
(D) All the above
49. Topology refers
(A) Adjacency
(B) Containment
(C) Connectivity
(D) All the above
50. Pattern defines
(A) Structure of objects
(B) Texture of objects
(C) Arrangement of objects

(D) Positioning of objects
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U udﬁ'%n ﬁ;f
Space for Rough Work
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U woETmN T
Space for Rough Work
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